Proportional Perimeters Theorem:

are proportional to the measures of the
corresponding sides.

Example 1:

If AABCAXYZ, AC =32, AB = 16, BC = 1645, and
XY = 24, find the perimeter of A XYZ.
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6-5 Parts of Similar Triangles

*If 2 Triangles are similar, then the perimeters
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Special Segments of Similar Triangles:

If 2 triangles are similar, then the measures of the

corresponding roportional to the measures

of the corresponding sides:
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Special Segments of Similar Triangles:
If 2 triangles are similar, then the measures of the
corresponding[mediansare proportional to the
measures of the correspending sides.
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Special Segments of Similar Triangles:

If 2 triangles are similar, then the measures of the
corresponding @ngle blsectoLsgof the triangle are

proportional to the measures of the corresponding
sides.
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Angle Bisector Theorem:

__*An angle bisector in a triangle separates the opposite
side into segments that have the same ratio as the other
two sides. c

AD ___AC Segments w/ Vertex A
DB~ BC Segments w/ Vertex B
Example 2:

AABC ~A MNO and BC = -1- NO. Find the ratio of
the altitudf? of A ABC to the 3ltitude of A MNO
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Example 3:

In the figure, AEFG ~A JKL. ED is an altitude of

AEFG, and Jl'is an altitude of AJKL. Find x if
EF =36, ED =18, and JK = 56

Example 4:
The drawing below illustrates two poles
supported by wires.

AABC ~AGED. AF 2CF and FG #GC 2DC.
Find the height of pole EC.
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